ZEEM (4/1~7/22 9/22~1/31) X4/1~4FEZEKREFEN, FAETDZ5-OEFFXERRDERFDREET S,

HERAS RIS BEHEEM/E

BRTEHE #H E-—JL- A KK SRS
JUER JUER JER & E . . .
AR R T Bl A E iE B &
. : . . . 1 6 1 6
o E(EPER 2P YT
6 ; ;
RIEE ~ ~ Bl = =
5@ i@ - —~ —~
1 6 o 3 JE
] E] £ 1 6
= £ - -
T I}
15 ARE 0 2,075 0 0 288 0 4,045 0 115
25 BEFRRHIRE 0 1,101 0 0 245 0 341 0 0
3EHE REBBEUWREKE 1,366 0 0 231 0 148 371 277 0
415ME XHRPIEHE 0 1,316 0 0 160 127 440 0 0
5EfE FiEHtE 22— 0 561 0 0 207 0 0 0 2,902
5EEEE% 0 389 0 0 56 0 0 0 0
65 L—HILtoE— 1,023 0 0 148 0 162 0 0 610
7EME LENEE 1,811 0 0 547 0 80 0 0 0
854 YCUR/YIT 0 64 1,266 0 137 0 601 0 1,017
WE&ODEE 0 0 0 47 0 229 0 0 0
T Dt 0 0 0 0 207 0 0 0 0
=) & 4,200 5,506 1,266 973 1,300 746 5,798 277 4644
weEt 24,710




e

z

B BT PRAL#H BEHEEM
EBRT% #H E=—JL-F/- KK M
— R —[E§ [ER = Ed i : i i
| | = T AT AT & & & &
L - L - P . . 1 6 1 6
- @B EEEMR — & — [% 1 & & (] (=] (] (]
1—E1E 2—E2E 134 E&% 6 % b i
3—3E3E 6—5E6E ~ ~ [] = =
1/2—2:81Z1[E] & 3E . . —
1 6 b & b}
@] B X 1 6
£ E - -
1F BT -BEER E=——JL 300
1F ERT-BEER E=-—IL 520
1IF BFER(EI=H) |[E=x—IL 36
IF ZFErR(EEEDH) |[E——L 17
1F {&Fr -
(% E HEEERAD) E=— 16
1F {8FF -
(PR 3248) E=—il 39
2F R -PEER E=-—IL 465
&
2F R -PEER E=—IL 269
2F BFEFr(205%%) E=—JL 18
2F {EFT (BEFAD) E=— 34
3F ERT-PEEX E=-—JL 521
& 3F fEAR(3014) E=— 22
B
& 3F {EFT(3044%) E=——IL 65
1IF HE-FIE-F—HFBE|E=—)L 1,207
|13F IEERILIBEE EA-C- T 260
1F FRNEEEEB "
KEGHEE e 79
1F "
YA GERE e
IF BEZE DN 36
z |IF ZOtBEOENER (EZ—
)
tr mxpkas K
2F #=E E=-——JL 1,140
2F ZR={h EE
2F ZOMBEOEWGE |E=Z—IL
3F &= E=—JL 1,438
1IF JO—/N\LiftEZER (E=-—)L
I Bt 2,075 0 288 4,045 0 115




% P PRATH% HiEHEM
BRT%H H£H E=—IL & KK M
4 — IR JER k- = i : i :
| T | = T i i iE B e |
L - L - g o o 1 6 1 6
- OB EEHEMRH - & — % & e = - (] (] (] (8]
1—81E 2—E2ME E% E% 6 EX b b
3—E3E 6—3E6[H ~ ~ ] S =
1/2—258(21[H] 3B JE . — —
1 6 5 & &
E] E] % 1 6
o - ~ @ @
E E - -
1F BT -BEEX E=——JL 289
1F {Efr-ZHLE E=——J 57
2F R -PEEX E=—J 203
2F Ef-mLE E=—I 47
3F ERT-PEER E=——J 203
F _
3F {EfT-&ZiLE E=——J 47
AF R -PEER E=—JL 203
4F fEFT-mLE E=—I 47
i1 5F R -PEEX E=-—IL 203
=
21 |or mmommLE E=—L 47
AN P
e E=—l 185
1IF ZOMEOEWNERR |E=——IL
2F 34 —ZF, GPE E=——JL 120
2F ZOBENEWNERT |E=—IL
3F ZOBENEWNGERT |E=—IL
AF ¥3IF E=—IL 18
AF ZOMMBEOEWNER |E=—IL
5F &34 —F E=-——IL 18
5F ZDBNEWERR |E=—IL
I\ Bt 1,101 0 245 341 0




5 B PRALHE HiEEM
BTF %4 E=-——IL B KK TN
— R — R JER Ed {Ed i i i i
| * | & T i i @ B B B
L - L - . C . . 1 6 1 6
o B HBEH - I B 1 B = = = = =
*i 1_)551@ 2_)@2@ Eﬁ EQ 6 Eﬁ ?I’ ?I'-'
3—3E3E 6—iE6[H % ﬁ El = =
1/2—23@(Z1[] = : P - -
= ] £ 1 6
E E > -
HTIF BT -REEX E=——JL 43
1F ERTF-BEER E-——JL 479
1F {ERT-ZHLE E=—IL 63
2F ERT -PEEX E=-—JL 278
2F {ERT-ZHLE E=—I 42
;ﬁ 3F ERT-PEEX E=-—IL 221
3F {EfT-ZiLE E=-—J 42
4F ERT-BEER E=—IL 176
4F {ERT-ZHLE E=——L 49
5F ERT-FEEX E=—IL 169
5F {EfT-imhL= E=-—IL 49
HT2F hRERE E=——IL
TF AT A=A LEER
= /N
% 1F AAYTHR—IL E=—JL 371
A TF aoFi——%-
Bl |Eamu=s RN
£y AnE ke &
B |F AsamIE-eTE o
AIE -
1IF ZOMEDOEWNER |E=Z—IL
2F T—TJ354731)— E-—J 86
2F LLEZEQHR) M 277
%
D |2F hERFTE 52— M
fth
2F EEXRRESEE M
2F ZDMEDOEWNER |[E=—IL
F XFEKEE E=——IL 62
3F MFEHELIF—F SR
3F ZDMeEnEWNER |[E=—IL
4F ZDMEOEWNER |[E=-—L
A4F ERRBEEIF—ZF (E=—IL
5F ZDHMEDEWNER |E=—IL
I Bt 1,366 0 0 231 0 148 371 277




15 il PRATHR BHEHEM
BT #£A E=——IL-B/- KK S E
— R — IR ER £ = . . . .
| | F T B AR & & & &
L - JI - . . 1 6 1 6
5 | OEHEBEM o B o B B B 5 i [=] [=l [=] (=l
A 1—@E1E  2—E2ME E&% E% 6 E% b b
3—3E3E 6—:E6[m ~ ~ @] = =
1/2—2:8(Z1[g] 3E 1B . —~ —
1 6 i & 1
E E] £ 1 6
E E - -
1F BT -BEER E=——JL 290
1IF {Efr-Z3HLE E=—I 55
2F R -PEER E=—JL 234
2F {ERT-iZLE E=—I 21
3F ERT-PEEX E=—IL 198
3F {EfT-iZLE E=—I 21
=2
4F R -PEER E=— 198
4F {EFT-SHLE E=—I 21
5F ERT-PEEX E=—J 198
5F {EfT-iZiLE E=—I 21
6F ERF-FEEX E=-—JL 198
6F {EFT-iZLE E=——J 21
1F ETA&R—IL E=-——JL 180
X
*z;r 1F =T E=—L 36
{sﬁ
7 1F HEEENE E=—I
i
1IF XSEE RS
1IF ZDMEDOEWNER |[E=—I
2F =+ —=(A-B- _
C'D)-E-LHE E=—b 224
F REREBEE o
Z |2F ZDMmENENMGRT |EZ—L
)
f |sr pegms i
3F ZDBDEWER |E=—IL
AF ZDHMBEOEWNER |E-—IL
5F /IZNRERE- -
—RHEENE E=—l 127
5F BEEEEE o
5F ZDihBDEENER |E=—IL
6F HEEXRET=E SRS
6F ZDBEDENER |E=—IL
I\ &t 1,316 0 160 127 440 0




15 B PRAL#R BEHEEM
EBTZ% #H E=—IL-F- KK ESED
[ R JER £ & . . . .
T T T B i B B & E
; ) . . . 1 6 1 6
5 5 B g i i [=l [=l [=l [=l
N 2 B 6 B& h h
@ HEHERH —~ —~ G S =
B | 1—E1E  2—iE2E a8 a8 : ~ ~
3—iE3E  6—3E6(H 1 6 5 pLE] &
1/2—2:8(21[8] & = % 1 6
E E o o
N N
L L
TF2F ERT-BEER E=—JL
#hTF2F {ERT-ZHLE E=—JL
HT1F BT -FEER E=—JL
HTFIF Eff-ZHLE E=—
1FE ERT-PEEX -
& mBE. 2. 3 mE | C— 142
1FE8 ERT-PEER E=—JL
1FEdt {Efr- 53 LE E=-—IL 72
2FFgdt ER T -BEER E=-—IL 130
o
2FFF ERT-REER E=—
2FFgdt {Eff-iZHmLE E=—IL 75
SFEdt ERT-FEEX E=—JL 289
3FFE ER T -BEEX E=——IL
SFFadt {EfT-iZHLE E=— 60
AF-RFEgIL ERF - PEEX E=—IL
AF-RFE PBEEX E=—JL
2 AF-RFEEIL ERT-ZHLE | E=—IL
i
Eﬁ HhR2F hRBsREE E=—
+
v T2F EBERE E=—JL
3
I HMTIF ZE(HHY)- —
thTIF E2FE-BEF E=— L
HEEEE ESE
1FR-Jt RAE=. S E 1,316
1Fi BE-EHE ==
1FEdt EH=E EE
%z |IFFA BEAR—ZX E=Z— 19
Oé oFf BB,
1 ori tEsmEE. FL—F |E=—L 641
[ TEAB
2FF REXHEIIVD DS 25
2Fit EHE=E X
P R 773
2FFg-dt BIETEEVER |E=—L
3FE DSZEEB DD 128
Fidt IBEHE. to3— "
EE BT s
Fm £ E=——JL
4Fit EFREE- KFMh5R %
MEE FRIAE e
4F -RFZ DAth -
B ENE E=—b
N Bt 561 0 0 207 0 0 2,902




% P PR BEHEEmM
BT%E #£H E=Z——IL-A- KK SR
ol — R ER = = i i } i
| T | = T i Gl B B B B
JI L - O 0 o 1 6 1 6
@ B EHEMR - & - & 1 [ 5 & (] (] (8] (]
1—5@81[E3 2-—3582[E E% 13 6 E% b b
3—iE3E 6—:E6[E ~ ~ ] = =
1/2—23@81Z1[ & B . —~ —~
1 6 # & &
=] E £y 1 6
E E o -
1F ZEHR—IL- N
BF - BB == 188
1F Efr-ZhLE E=—I 23
H .
5 2F [ERT-PEER E=——JL 201
=3
£ 2F {Efr-iZLE E=—IL 33
i
i IF ShRMg=E D
%
D [IF ZoteE0EWER |EZ—IL
fth
2F ZDOBEDEWER |[E=—IL
I\ Bt 0 389 0 0 56 0 0 0




% P PRAL#R BEHEEM
EBT% #£/A E-—IL-B&- KK ESED
JU R JUER JER & £ i : i X
< F <~ TF T il i & B B B
: : . . . 1 6 1 6
L E = B [8] [=]
O B ENEEY i b el e T : =
i} {1 - 124 12 6 E% i i
—3E1[5] 2—3E2[A] . R =] E =
3*5@3@ B 6—3E6[a] & & . . .
1/2—2;8IZ1[E] 1 6 # e B
@] @] £ 1 6
E E - o
I} 1
HTIF ERT -PEER E-——IJL 47
1F BB - B E E=—I 15
1IF TUNSUR-BEER /524 222
1F {Err-msLE E=-—JL 52
F
2F ERT-PEER E=—I 338
2F {Efr-imshL=E E=——IJ 48
3F ERT-BEEX E=-—I 401
2
I 3F {ERT-iZiLE E=——JL 48
5
| |oF srsmmi~ R 162
v
’T“' oF EERHE2 E=—JL
2F EFRKRiREL L E
2F F1Z=E1-2 =
%
D |2F RADH -BHEE S E
fth
F ERE E=-—IL 18
3F v—HIk—IL L E 486
h3F X S ED
IF RF—-BIE KB 106
U\ &t 1,023 0 0 148 0 162 0 610




15 it PR & wEHEM
BT%E #£H E=—)L-B- KK DD
— &R — &R JER F = i i , i
| = | 7 T A A & & & &
JL - L - o C . . 1 6 1 6
" OB EHEERH — B - BE B B 5 5 (=] (] (] (6]
B 1omi|E  2—@EE BR B 6 EX # #
3—3E3E 6—3E6[E ~ ~ =] = =
1/2—238(Z1[H] ] B . —~ —~
1 6 i 3B &
[=] [=] £ 1 6
. . - @ @
= = - -
HT1F BT -FEER E=—JL 525
WMTIF {Efr-iZHLE -
Bk Ovh— E=— 453
1F ERTF-PEER E-—I 648
,;H‘ IF {ERT-iZ5HLE E=—J 14
2F R -PEEX E-—IL 532
2F {Efr-ZHLE E=—JL 80
N 3F ERT-FEER E=—JL 106
gﬁ
?g HTIF $2-3kB=E KRER
MTIF ZOthEnE -
LNERR E=—t
IF S E=—L 80
e
D |IF BIBESEHFAT E=—JL
fth
2F F1RBE(7)—F) RER
2F ZTDOMBEDOEWNER |E=—I
3F SV=2TRouY E=—IL
N &t 1,811 0 0 547 0 80 0




EE 2

&’

i B

PRAL#HR

O HEHEEH

1—581[g]
3—3E3[H]

2—3E2([H]
6—3E6[E]

1/2—258121[g]

BTEF #H

E=-—IL-fA- KK

B

1S
AR
6 EX
o

%

~

-

(Bl - ) il S N

-

( Blo ) WS

B — f&
B o [5&

B — f&

B o {5&

NHOUNCO<

\|
/|

H

1F BT

1F JERT - PEER

519

1F {EFfT
(XF-BF-Z2BH)

o1

2F ERT-PEEX

267

2F {EFfF
(ZF-BF-Z2BH)

43

3F ERT-PEER

171

AF R -PEEX

255

AF [T

16

AF {EFRT
(ZF-BF-Z2BH)

E=-—JL

43

5F ERF-FEEX

o4

FO A

IF EA=——H—IL

201

1F Z0tEBEDOENERT

E=——IL

2F RFa—TUbET4R

132

2F H=E

E=—IL

243

2F #=E(Y204)

268

2F ZDthBDENERT

3F RFa—TUbAT4R
(S31, ¥ 7HHME)

3F RFa—TUbAT4R
(534,535)

30

4F RFa—TUbAT74R

118

AF =

358

4F HZE (Y404)

268

AF Z DB DENERT

I Bt

64 1,266

137

0 601

1,017




% P PR HiEEmM
BRTE £H E=Z——IL-A- KK SR
ol T — R ER [k Ik i i ) i
| T | = T i Gl B B B B
JI L - O 0 o 1 6 1 6
- @ B EHEMR - & - & 1 B 5 & (] [a] E] B
1—E1E  2—:E2ME E% 13 6 E% b b
3—3E3[E]  6—3E6[m ~ —~ =] = =
1/2—23@81Z1[ & B . ~ —
1 6 # 1 &
=] E £y 1 6
. . - @ @
E E o -
,’ﬁ F(ZXF-BF-2E8) |[E=—)L 47
Ly
5 IS REBR—IL
i |[gEESL A# 140
5| %
o | D |ZENKR—IL ARER 89
g | fib
EHE SR
Bt 0 0 47 0 229 0




B BT PRATHE HEHEM
BT%F #H E-——IL-HB- KK S E
— R — R JER Ed Ed i , i i
| * | * T i A B E B B
L - L - O . . 1 6 1 6
- @B EHEMEH ~ & < & & B L R E] B ] ]
1—E1E  2—E2[E E&% 137 6 % b b
3—3E3E 6—3E6[E ~ ~ ] = =
1/2—2:81Z1[] pIE piE| . —~ —
1 6 5 B &
[ =] % 1 6
. . - IE IEI
E E - -
E{—;Mﬁs B84 30
z E‘,r—L?)bﬁD EA4 L .
)
#h H—2 LD 24)L 121
) —= avy)—+
FEZISURRL AL 15
" Bt 0 0 207 0




